\/ear [ 'Iﬂecpaa[fb Qoblems
') @,éef‘ {n per moan

o) Juckie £n+200
b) Paula fj 2N more than
(_) Pcwla 7 Cfacéie

An > N+200

d) an-Nn 7 200
N> 200

5o fPeber g £100 per monHy.

l.easf P»efu eams = £ 20|

2) Dafudd spencls #n

)  Sioned spends  £3n

b) Faisal spends £ 5n + 60
C) Sioned % Fa::s_‘a[
less bhan
N < 5n+60
d) gn—-5n < 60
3N < 60

N < 60
3

N4 40 less Phan
| 4
50 Daggdd  spends < E20

3 _/AHSWQFS

Mosk  amount Da-@dd spends * nearéf} /Jenng

= fm*??



@ Pen costs Ne
a) Penu‘l i — 20) P
b) 800’1 2n-30f
¢)  Book > pencil
more than
2n-¥> N-20
d) -0 7 -20+ 80
N - O p
Mo bhga
So pen costs > GOp
Leaot  amount pen ks o 6lp

@ Boole weiﬁhs 9 L’j
«) Table W+20 kg
b) Char 3w +9 kg
<) Chair < Table

Kiess then

W+g < W+20

d) do-w £ 20-%
AW < |2
W< 12
£

W £ kﬁ

Book weiﬁhs £ ékg

9»&@&@? u}efﬂt\“iL in }‘j Book caild be

_
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